RFHIR
2657

e
R R e 2

RE RN

H—. A HEA L BEB, HEC
112 FEHAES — R B A




S o R )
HH | A TGRS LRGN L, nf LB B I |, B an g & | T |
F RS, o Rk A TR 5 A
SRR, T B, AR SRR 200~y = 2b(x" - y)
Cnl X=Y a=b o X =Y a XtV | SmistE FASEE R B i A . )
AR AR B A, RS e BRI LT N 7S 2
(A)YS KB (B) KB (C)i% KB (DY W
| (B Kl
FRPT | 2a(x? = y?) = 2b(x* = %)
— (x* —y%)(2a—2b)
= (x+y)(x—y)x2(a—b)
B K (H
R R, SRS SR N AR T R R
o | REES FR SXORR BER e | e o0 w0
B | A10-AE T A R, B 1-V2 BRI T
N FHL | 1-V-3 FHEEA R
R o R )
N AR e a L N RS
FHEFREEET T | (EERIE IR, SRR n SRS © (em) FUSEE X (cm)




g10

CLFRAfR: 3

()

BIRR, HEHTEARRS, X MRS —

Y. (3. log2ll 0.3 log3l 0.48

o BIER —IER 2 430cm., JEE40.01emP IR, B0 E

Z R S R ————

Y

64, 7

=5| A

)

g

Qﬁnz4ﬁ§’

:>4Sglogzg
3
= 6<log, 2
X

—log, 2’ <log, L =L >2°=¢64
X ox

w
X 1/IME A 64,
Q .o=30cm  x=0.01cm ,

n<210g. (2L
3 gz(o 01)

=>n< glog2 (3000) = %10g2(3x 10°)

=>n< %[log2 3+log,10°]

2 log3 N 3logl0

3 log2 log2

2 .0.48

n<S[—— —_—16 10
3[03 ] [ ]

:>n£233—'2N 7.73

CREARTE AR S REEHITTIR,

=>n<

oA 95 =1 FRBCE B I

I} T

WO | e R SR R | B0 L R
£, R-11-3 % S 85 % HRE A 23 1ove @E E’JTﬁﬁF
N FH

1-V-4 JHL Bl




SR A A ]

MR R SRR, TR TR R, A7 B R AR AR R,

E—EKEFHBS, kTR Sa, & 4R/ NE T E —
(B INE T 2 P A TRl th RSB 22 ) | ST 54 5043 1Y
WAt %74, KEFHIE R %42, BUNE FIRH TR S

S ol IR
<

fa] 2
BER |6
VT | T, dE e =20+ w =a+2b
CREEHER %42,
HIE+ %=
= (2a+b)+(a+2b)=21
—3a+3b=21
- a+b=T0 @

X257 IR 2574,
= (2a+b)x(a+2b)—5ab=74

= 2a* +2b* +ab+4ab—5ab =174
=a+b* =370 @

W Q@ iR
=a*+2ab+b*=49

= 37+2ab=49
soab=6 | HI/NE RS 26,

HE BB ApEE LA
| OB e .
W | permn 2 mn z| T | w0 R
T 2R DU F e
B2E | A-10-3Z TR A, EVE | 1ov-l B TR,
SES R | 1ova3 BER R




5 iy R ]

By — R AT OME, B nl LB IR, (BEANRREREH B S E 22, Moy
NN T 1%, REBYCRRA 2o iIPT I RUR, A RRERYEE LR, Rk, 5 NS
‘*'JﬂﬂTHE’JfBZf*PK BTSRRI,

SERREHBNIEAERR RS, A E s — S, HORE & 10%, IR

T S RERYBEEE EE, RS A R IR R 0. 1,
S S Y)
VT | spsessumiacsmpe 2 x |

TIE " SR

= xx(0.9)" <xx0.1

= 10g(0.9)" <log(0.1)

= nx[2log3—logl0]<—logl0
= nx[2x(0.4771)-1]< -1

= nx[-0.0458] < -1
=n>21.83

BRI 22 BB FRAOBE AR A, e T M RO AR TR B AR A EY0.1
/f_L.

BT TF TR Y

Vivan Ex %T &/\ );H i pEs ey

W | s 2 = pemy| | B0 e WL
5 PR

B R-11-3% g N e 28| 1ove *E%/\E’JT%

g LB | |ov-4 it L




S mE TG

REE | () 2 T3 5 i P 5 S B o [ o Aty P ) B 2 v 4 T
IR T 255 [ 9k AL @B, I — T, 380/ ETR ], 4 LR sk T T [

IE\387% ABCDEFGH (finfm —), Hrb O %1F BB L, 8E AB=1,

b 9395

A B
-
B 32 +4
2
WENT | & |04|=|0B|=B =|OH |=x
T
X' +xt =17
= cos45°=———
,T—N OAB h = ZAOB =45° 2XXXX
f 2x% —1
2 2x x>
—2x? =2x* 1
—1=(2-+/2)x’

e 12+42)  _(2+42)
2-V2)2+V2) 2

LYy LAY LYy

EIJ AC-AD = (OC — O4)-(OD — OA)

LYy N LM N LAy

OC OD+|OA| —OA OD-0C-04

= xxxxCc0845°+ x* — xx xxc0s135° — x x x x c0s 90°

2

:xzx(g)+x2 —xzx(—T)—O

= (WZ+D)x’ = (V2 +D)x (2+‘/— 3€+4

e | TEEIERC B S A R 2
R W%Eﬁ\i%ﬁ %ﬁx EJD EP. %ﬁD
| S 10-51h &R N FE, B 1oV-1 A TR
N FHL | 1-V-3 BER iR




SRIEH

i e B {5

& H

CLEn— B P AT LA, o sR e AR SR 8 LI B5okELA, A REFHE a0 R
all a]2 |X| al‘)
a21 a22 |X| a29
O O N

Ay ag, N ay,

o

FHAFAT IS L AR S LR B, $3% PINEFE 53R Rl A 22 858, ELIE PP —

95 =T | BRI A 0 3R 2 s (]

567

|03
=5| A

FEFE T A ST Z 1
=E—FxRz2M+ EFxR2M I + EAFITRZM

><E+a25 x9+0 aysx9
EP%IE\I?%&

N TN

=[(a;s+a,s +0 +ay)]x9
= [as; x9]x9

=[7x9]x9

=567

iy
i

i e L L

= 4B
I} I

A-11-4% PR E R, B V2R R T
FHL | 1-V-3RHER fiR




